2‘
‘ ——'—4 (1) 2 20 GA STRUT ON TOP OF
j /TDP SECTION
3-1/4° X 20 GA CONTINUOUS 5 ¥ 20 GA STRUT STACKED ON 14GA. (MIN.) CENTER Z
@’ X 20 GA STRUT AT THE TOP OF TOP BACKER PLATE BEHIND BACK THE HINGES OF EACH HINGE ATTACHED i 12 GA. (MIND GALV. COMMERCIAL
SECTION ATTACHED W/ (2> 1/4" X 1” SKIN AT TOP AND BOTTOM OF W/ A TOTAL OF B ™™~ TDP ROLLER BRACKET ATTACHED
INTERMEDIATE SECTION ATTACHED : D
HEX HEADASDCRCEE\}/\‘STE?QT SET?CE ENE '|S‘IILE EACH SECTION ) W/ (@ 1/4° X 1 HEX HEAD y S 1747 x 1° TYPICAL TOP gﬁ WITH ¢3) 1/4° x 1° HEX HETAD
| . SCREWS PER BRACK
LE LOCATIONS SCREWS AT EACH END STILE, AND 4 HEX HEAD SCREWS SECTION B3] ADJUSTABLE SLIDE BRACKET IS

12 GA. (MIND GALV,
COMMERCIAL TOP ROLLER
BRACKET ATTACHED W/(3)
174" x 1" HEX HEAD SCREWS

ADJUSTABLE SLIDE BRACKET

2’-10 BALL STEEL
[ ) 7* STEM ROLLERS (MIN)

CENTER STILE

NFPES

3-1/4* X 20 GA CONTINUOUS
BACKER PLATE BEHIND BACK
SKIN AT TOP AND BOTTOM OF
EACH SECTION

B

A

MODEL 2700

27 GA. (015" MIND
OR MODEL 2720
20 GA <034 MIN)
PREPAINTED STEEL

5

v

ASSEMBLED WITH (@) 5/16" x 3/4*

CARRIAGE BOLTS & NUT PER
BRACKET

INTERIOR SKIN 27 GA

(1> 2° 20 GA STRUT ON EACH
INTERMEDIATE SECTION STACKED

ATTACHED W/ (2) 5/16* X 3/4* — W/ 7/16° RETAINERS FOR 5 ON THE HINGES ATTACHED
CARRIAGE BOLTS AND NUT NON~THREADED SHAFTS TYPICAL P WS 14 X 4 HEX HEAD
TYPICAL CENTER HINGE INTERMEDIATE & A
] ND CENTER STILE LOCATIONS
TYPICAL TOP FIXTURES 1 N.TS. e SECTION ~ k5 ‘
N.T.S. %

S

27-10 BALL STEEL

7° STEM ROLLERS (MIN)
W/ 7/16" RETAINERS FOR
NON-THREADED SHAFTS

24’ MAX

SECTION HEIGHT

2 X 20 GA STRUT ON EACH
INTERMEDIATE SECTION ATTACHED

W/ (@) 174" X 1 HEX HEAD SCREWS
AT EACH END STILE, AND CENTER

STILE LOCATIONS

TYPICAL END HINGE

14 GA. (MIND

END HINGE ROLLER
"CARRIER ATTACHED
W/ (3 1/4" x 1*

HEX HEAD SCREWS

3-1/74" X 20 GA
CEINTINUEIUS BACKER PLATE

BEHIND BACK SKIN AT TOP
AND BOTTOM OF EACH
SECTION

i

SLIDE LOCK ENGAGES
INTO VERTICAL TRACK M=

ON BOTH SIDES (SNAP
LATCH, OR LOCK BAR

OPTIONALY ATTACH

W/@ 1/4" x 3/4°HEX

HEAD SCREWS

i

3-1/4" X 20 GA CONTINUOUS

19 GA. GALV. STEEL END STILE
ATTACHED TO DOORS SKIN WITH
(@ #8 X 1/2° SCREWS PER STILE

r

q/-p*

INSIDE ELEVATION
N.TS.

JAMB SEAL
OPTIONAL

3 /

A
\\\

]

(1> 1/4-20 x S5/8°TRACK
SPLICE BOLT AND NUT PER
JAMB BRACKET

" GALV. STEEL TRACK
BHiGKNESS 1057 "(MIN.

EDGE OF DOOR 1” OVERLAP ON EACH SIDE

™Yy

¥ ~

INTERMEDIATE
HINGES 14GA (MIN.)

~x

TRACK MOUNTING DETAIL

N.T.S.

BACKER PLATE BEHIND BACK
SKIN AT TOP AND BOTTOM O
EACH SECTION

- N.T.S.

©,

BOTTOM BRACKET

11 GA. (MIN.> ATTACHED
W/ A TOTAL OF

(7> 174" X 1”

HEX HEAD SCREWS

27-10 BALL STEEL

7% STEM ROLLERS (MIN)
W/ 7/16° RETAINERS FOR
NON-THREADED SHAFTS

N.T.S

5/16° x 1 5/8° LAG
SCREW (1) PER
JAMB BRACKET

TYPICAL BOTTOM BRACKET@

2°-10 BALL STEEL

7¢ STEM ROLLERS (MIN)
W/ 7/16° RETAINER
CLIPS FOR NON

THREADED SHAFTS OF DOOR WIDTH

THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE
WITH THE PROCEDURES DESCRIBED IN DASMA 108, THE
PRESSURES SHOWN ON THE DRAWINGS WERE CALCULATED USING
ASCE 7-98/02/05 WITH THE FOLLOWING PARAMETERS (5 FEET

IN END ZONE, ROOF SLOPE 10" OR LESS, 1=1.0):

WIND SPEED (MPH)

151 137 130 124 119

EXPOSURE LEVEL B C C D D

MEAN ROOF HEIGHT

30’ 15 25' 15° 25’

3-1/74° X 20 GA CONTINUOUS
BACKER PLATE BEHIND BACK
SKIN AT TOP AND BOTTOM OF

TONGUE & GROOVE EACH SECTION

SECTION JOINT

TYPICAL BOTTOM s
SECTION ~U \41) 2 20 GA STRUT PER SECTION
3 TTACHED W/ (2 1/4° X 1° HEX
HEAD SCREWS AT EACH END STILE

POLYURETHANE AND CENTER STILE LOCATIONS

INSULATION CORE

BOTTOM BRACKET
11 GA. (MIN))

SECTION A—A (SIDE VIEW)

N.T.S.
REV | DESCRIPTION OF REVISIONS DAE  [BY
MAX SIZE JERCERN
) ; \
9'2 x 24 e
= ‘\EOFTE* A

DESIGN LOADS
+32.6 PSF
-38.3 PSF

TEST LOADS
+48.9 PSF
-57.5 PSF

Thomas L. Shelmerdine, PE (TX PE #85829)
Structural Solutions, PA (TX Firm #F-004063)

5921-G W. Friendly Ave., Greeni boro, NC 27410

arr

MODEL 2700 AMARR 2742
MODEL 2720 AMARR 2042

SIE[DRAW BY  RR DA 02/18/16 DRAWNG NUNBER
B [ceckm Y RIR [DATE 02/18/16 IBC-2709-150-11
ENTREMATIC
165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105 SHEET 1 OF 4




TRACK CONNECTION DlRECTLY TO STRUCTURE OPTIONS 2000 PSI MIN. SIMPSON STRONG-TIE

CEINCRETE\ 3/8’¢ SLEEVE-ALL

EXPANSION ANCHOR WITH

X 374+ SELFTAPPING et et e 7/8°9 WASHER, 1-3/4°MIN
- STEEL (SEE BELOW) 1/8* NOM X 1° LONG 1/4* LONG TACK . ' '
SCREWS (TEKS) / FILLET WELD (E60xx WELD SAME SPACING 2000 PSI MIN. SIMPSON STRONG- TIE EMBEDMENT
ELECTRODES MIN.) AS FILLET W CONCRETE -
TzrrIZIIZIY) S FILLE ELD \ EXPANSION ANCHOR WITH
/ 7/86 WASHER. 1-3/4°MIN,

+| EMBEDMENT

2-5/8* THICK
WALL MIN.
(15 x EMBEDMENT)

2-5/8" THICK
WALL MIN,
(15 x EMBEDMENT) g;sm{icEDGE
CLIP STYLE R ANGLE MOUNT SHOWN
BRACKET, CONTINUOUS AND TAPERED ANGLE
MOUNT AVAILABLE REVERSE A NT_SHOWN CONTINUOUS A
X BRACKET, CONTINUDOUS AND i3 MIN. EDGE BRACKET, CONTINUOUS AND TAPERED ANGLE

12_GA. STEEL FRAMING TAPERED ANGLE MOUNT AVAILABLE DISTANCE MOUNT AVAILABLE
gggMLgﬁ.D/SscE@J lg’LLLl]II(\E/ABLE LOAD - & TEEL FRAMING 12GA DR BET CLIP STYLE CONTINUOUS ANGLE MOUNT SHOWN 2000 PSI CONCRETE OR GREATER
R DS D 18 8L o -S-—EEL——-J——MIS% S TIN. ALLGUABLE LOAD - BRACKET, REVERSE AND TAPERED ANGLE MOUNT 336 LBS./EXPANSION ANCHOR ALLOWABLE

Y £* FROM ENDS AND 24¢ O.C. AVAILABLE LOAD - 6° FROM ENDS AND 24° OC.
3/16° STEEL FRAMING REFER TO NOTES' 1, 2, 5, 6, 7, 8 000 PSI CONCRETE OR GREATER REFER TO NOTES' 1, 2, 3, 4 AND 5
E69 LBS./SCREW ALLOWABLE LOAD - 6° AND 9 351 LBS./EXPANSION ANCHOR ALLOWABLE LOAD -
ROM ENDS AND 24 OC. 6’ FROM ENDS AND 24° OC. ,
REFER TO NOTES: 1, 2 AND 5 REFER TO NOTES: 1, 2, 3, 4 AND S PECIFICATIONS AND N

1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE

WOOD JAMB ATTACHMENT TO STRUCTURE (OPTIONAL) VERTICAL JAMSS" THE HORTONTAL 4B (OF HEADER RECENES NG '
N 7 PORTION OF THE LOAD TRANSFERRED FROM THE DOOR.
2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:

5/)1<6" ;E;"LAG sACREw;-r gTAIg'II'-:INé Tfs?’ Fggg EES!E STRUCTLRE NOTES: TS LB o LBS/ET
» n ) 3. DOOR AND HARDWARE ‘WILL BE DESIGNED, MANUFACTURED
THEN 24" 0.C. (1 1/2" EMBEDMENT) ! ?EEHEFS 7O BE EVENLY SPACED BETWEEN THE HEADER AND AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.
2 X 6 VERTICAL JAMB ATTACHMENT TO 2.000 PS| CONCRETE 2, FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF 4. DOOR SECTIONS SHALL BE 27 GA. MIN. EXTERIOR SKIN
HILTI KWIK BOLT 3/8" X 4" STARTING 6" FROM ENDS THE MAXIMUM ON-CENTER DISTANCE. HIGHEST ANCHOR ROLLED FORMED, W/ BAKED ON POLYESTER FINISH
THEN 24" 0.C. (2 1/2" EMBEDMENT) INSTALLED AT LEAST AS HIGH AS THE DOOR OPENING. 5. DOORS UP TO 24'0” HIGH HAVE (1) 2" 20GA STRUT ON EACH SECTION
» " » 3. MIN. EGDE DISTANCE OF 3’ REQUIRED. 6. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED
HILTI SLEEVE ANCHOR 3/8" X 2-3/4" STARTING 6" FROM ENDS
THEN 240 6.0 (1 A4 EHBEDHENT) 4. USE WASHERS PROVIDED BY THE ANCHIR MANLFACTURER. NDIGATED, ON THIS DRAWNG IN ADBITION 10 OTHER LOADINGS
ITW/RAMSET REDHEAD (TRU-BOLT) 3/8" X 4" STARTING 6" FROM ENDS S. SUPPORTING STRUCTURAL EIEEMENTS SHALL BE DESIGNED BY A ’
" » REGISTERED PROFESSIONAL ENGINEER FOR WIND LOADS IN
THEN 24” 0.C. (2 1/2” EMBEDMENT) IO T0 DR LENDS.
2 X _6 VERTICAL JAMB ATTACHMENT TO HOLLOW C—-90 BLOCK 6. MOST GARAGE DOOR TRACK IS GALVANIZED STEEL. USE ALL REV | DESCRPTION OF REVISIONS DATE  |BY
SIMPSON 1/4” X 3" TITEN SCREWS STARTING 6" FROM ENDS, NECESSARY PRECAUTIONS WHEN WELDING GALVANIZED STEEL. NTERIOR OF GARA .
USE PAIRS OF FASTENERS (3" APART) 7. ALL WELDS SHOULD BE PERFORMED BY A CERTIFIED WELDER "
AT 24" 0.C. (1 1/2” EMBEDMENT) OR INSPECTED BY A CERTIFIED WELDING INSPECTOR TO ™ MAX WDTH 90 — o
HILTI 1/4" X 2—-3/4" KWIK—CON ll+ SCREWS STARTING 6" FROM ENDS, VERIFY THE INTEGRITY OF THE WELD. WAX SIZE | 58 \ g
USE PAIRS OF FASTENERS (3" APART) AT 24" 0.C. (1 1/4” EMBEDMENT) 8. FILLET WELDS TO HAVE A STRAIGHT OR CONVEX FACE 9'2 x 24’ §§ ey ‘\ \‘\ o
2 X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C-90 BLOCK (2000 PS| GROUT) SURFACE. 22 ) sE0F] E* 2
HILTI SLEEVE ANCHOR 3/8" X 2-3/4" STARTING 6" FROM ENDS 9. TACK WELD TOE OF ANGLE AT SAME SPACING TO PREVENT DESIGN LOADSl 1 ‘ t l 1 J t l t ‘ | &= - ‘\ 'Yd’ I' g
THEN 24" 0.C. (1 1/4" EMBEDMENT) ROTATION OF TRACK ANGLE. ﬂ;g.g tggég SEE NOTE 2 DESIGN LOADS ég P-4t S 2
(OR, USE FASTENERS FOR HOLLOW C-90 BLOCK) ' Ta2e P e s
*AGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE. ' 2g i
*PREPARATION OF WOOD JAMBS BY OTHERS TEST LOADS | B 2 z
TRACK CONNECTION TO WOOD JAMB OPTIONS +48.9 PSF | £ z
WOOD CONCRETE -57.5 PSF | &3 g
E STRUCTURE STRUCTURE FOR LAG SCREWS & BRACKET SPACING SEE PAGE 4 FOR TRACK CONFIGURATION DETAIL 28 <
: —1r g3 !
= ] \ (=]
= /! u<| &a §
_L__!. \_z 6 JAMB
1/2° MIN 2-3/4° MIN arr
HOLLOW BLOCK
GROUTED BLOCK
STRUCTURE STRUCTURE
l \ MODEL 2700 AMARR 2742
= | ] BRACKET MOUNT CONTINUOUS ANGLE MOUNT REVERSE ANGLE MOUNT MODEL 2720 AMARR 2042
i 5/16" x 1 5/8° LAG SCREW D 2x6 WOOD JAMB SYP OR SPF SZE|DRAWN BY  RLR |DATE 02/18/16 DRAWING NUMBER
) _l__ PER JAMB BRACKET (1-1/2* (NO.2> OR BETTER (TYP. IBC-2709-150-11
1-1/2 MIN_.,al — 4 EMBEDMENT MINIMUMY <TYP.) B |cHEckm BY RIR [DATE  02/18/16 - — 1=
ENTREMATIC
165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 SHEET 2 OF 4




INTERM AT TION
B B
I A
& 4
\/
OPTIONAL GLAZED SECTION W/ 24° X 6’ WINDOWS
N.T.S. (TOP SECTION SIMILAR>

INTERMEDIATE SECTION

C c
A ¢
7 N 7 NS .
///// % //’ // / #
\ y) . 777 ) ..
£ 4
OPTIONAL GLAZED SECTION W/ 267 X 13 WINDOWS
N.T.S, (TOP SECTION SIMILARD
T T T
D D
a | :

—

:///://

Y
OPTIONAL GLAZED SECTION W/ 24* X 12 WINDOWS
N.T.S. (TOP SECTION SIMILAR)

DOOR SKIN
ALUMINUM
SPACER 080
, ,  PLEXI-GLASS \
~ /R/P /
: / HOT MELT.
ALUMINUM 080 ADHESIVE
SPACER PLEXI-GLASS
DOOR SKIN
EXTRUDED HOT MELT
POLYPROPYLENE ADHESIVE

#8 ZINC SCREW
SECTION B-B 24° X 6’ WINDOW DETAIL W/ .080 PLEXI-GLASS

N.T.S,
HOT MELT HOT MELT
POLYSTYRENE HOT VEL HOT MELT
/ 080 E\ DOOR SKIN
PLEX]-GLASS  \\
N S
NN 7/ A
Nepystyrene 7/ 080 / \#8 ZINC SCREW
SPACER PLEXI-GLASS
SECTION C-C 26 X 13 WINDOW DETAIL W/ INSULATED PLEXI-GLASS
N.T.S.
1/8* TEMPERED GLAss\ HOT MELT ADHESI
)
A \ //
%; 7/8° SPACER———
i i / // A
- HOT MELT
1/8° TEMPERED GLASS ADHESIVE
EXTRUDED
POLYPROPYLENE
SECTION D-D 24” X 12 WINDOW DETAIL W/ 1-1/8* INSULATED GLASS

N.T.S,

21-3/8*
MAX. DLO

)

/A

3-1/4" 1
MAX. DLO

24° X_6" DAY LIGHT OPENING AND FASTENER DETAIL
N.T.S.

23-3/8*
MAX. DLO
= ‘§
10-3/16* ///// .
MAX. DLO
\\ /

26’ X 137 DAY LIGHT OPENING AND FASTENER DETAIL
N.T.S.

21-5/8*
MAX. DLO

D v

9-5/8
MAX, DLO

. .
\. J
(= . . .

24° X 12* DAY LIGHT OPENING AND FASTENER DETAIL

N.T.S,

REV | DESCRPTION OF REVISIONS DAE By
A

g
MAX SIiZE | 28 NI N
92 x 24 | B3 —<e0FTae N Q
=7 ﬂ«k..‘.uooc'...-ﬁ’ \‘ S
‘6‘_‘:; ;%_-’ - '1& " 9]
DESION LOADS| EE  Zx * ad e
+326 PSF | x2S 8
TaS PeF | BB e e
22 4TH . LMERDINE; 2
o w e PERPLIETIBEEGNINIOTIIVLRENROLE >
TEST LoADs | EE 7 =
+48.9 PSF | %5 ~ T4 2
~57.5 PSF | 3 2
- =
@5 2
& o
[T}

MODEL 2700 AMARR 2742
MODEL 2720 AMARR 2042

STE[ORAWN BY  RR |DATE 02/18/16 DRAWING NUMBER
B [cecxm ey RR [DATE 02718716 IBC-2709-150~11
ENTREMATIC
16S CARRIAGE COURT WINSTON-SALEM, N.C. 27105 SHEET 3 OF 4




14 GA. (MIN.) FLAG BRACKET
ATTACHED TO wOOD JAMB

W/¢3) 5/16 DIA. X 1-5/8" LAG BOLTS
AND TO TRACK W/(4) 1/4°-20 x S5/8°
TRACK SPLICE BOLTS AND NUTS

[
_

14 GA, SPLICE BRACKET ATTACHED

TO wOOD JAMB W/ (1> 5/16 DIA, X

-5/8° LAG BOLT AND TO TRACK W/
B (4) 1/4°-20 x 5/8° TRACK SPLICE
BOLTS AND NUTS

(1> 5/16” DIA. x 1-5/8°

|

Y

ATTL L S1LETIILATIT 2 ITT1TTITTITAT S LAA L LR ARSI RN = Ry

TABLE 1 LAG BOLT ATTACHED TO JAMB s
/ AT EA. JAMB BRACKET / |.
_ Center Stile Max Design Loads 12 GA,_GALV. STEEL Lice TRACKS s
Section | - tions Allowed ATTACHED /D> 1/4°-20 x 5/6° | TR
Width we TRACK SPLICE BOLT & NUT
(ft) 1st Positive Neg|t|ve ] 5 12 'Gh MINY VERTICAL TRACK
i - TRACK ATTACHMENT CAN BE BRACKET =
(in) (PSF) (PSF) Fov MUNT, CONTINUOUS, REVERSE. ANGLE 5 - & z
E MOUNT OR TAPER SE ANGL % Y 3 e
MOUNT. ¢SEE AVAILABLE TRACK A
36.000 49.1 577 D CONFIGURATIONS ON THIS PAGE) & 3 & § 3
ALL TRACK BRACKETS AND TRACK n E é E §
C t CLIPS ARE ATTACHED TO TRACK ) b
WITH (2 RIVETS OR (1> 1/4°-20
B BOLT & NUT
R ALL TRACK BRACKETS OR TRACK
{ CLIPS ARE TO FOLLOW SPACING AS i
INDICATED ! !
TRACK CONFIGURATION FOR UP TO 24' TALL DOORS AVAILABLE TRACK CONFIGURATIONS
SEE TABLE 2 NTS.
REV | DESCRIPTION OF REVISIONS DA [BY
A
TABLE 2 - -
DOOR ' ___|SPLICE MAX SIZE | B8 JECEURNN N
HEIGHT| A| B] C| D|EJF |G| H] T ]J]|KJL|JM|NJOJPJQ[R[S[TJUTV] S 92 x 24 | 33 a':'\EQFTs\\\ 9
T o |27 |5 |36 56 [70° 76" et ;"’4\?"-"‘ *4 \ S
8 |10 [22" [34" |46 |68" |70" 88" <E S .
DESIGN LOADS| & = 2
9 |10" [22" |34" |46" |58" |70" |82" 100" +32.6 PSF ;i g
107 |10° |22" [34" |46" |58" 70" |82" |94" 112" -38.3 PSF | o3 &
1T [10" [22" [34" [46" |58" |70" [82" |94" |106" 124" 5% g
127 [10" |22" |34" |46" [58" |70° |82" |94" 106" |118" 36 | TEST LOADS | £5 N
13 |10" |22° |34" |46" |58" |70" |82" |94" |106" [118"|130" 148" +48.9 PSF | 5 g
4|10 |22 [34" [46" [58" [70" [62" [o4" [106"[116" 130" [142" 160" ~57.5 PSF 1 52 E
15 [10" [22" |34" |46" |58" |70° |82" |94" |106"|118"[130" [142"[154" 172" g5 2
16 |10" [22" 34" |46" |58" [70" |82" |94" 106" |118"|130" |142" 154" [166" 184" §§ e
17 |10° [22" 34" |46" |58" |70" |82" |94" [106' |118"|[130" [142"[154" [166" |178" ' 196" o a
18 110" [22° 34" |46° |58" |70" |82" |94" 106" |118" |130" |[142"[154" [166" |178" 1907 208"
19 [10" [22" 34" |46" [58" [70" [82" |94" |106" [118" |130" |142" |154" 166" |178" [190" [202" 220"
200 |10° |22" [34" 46" |58" |70" [82" [94" 106" |118" [130" |142"|154" [166" 178" [190" [202" [214" 232"
21 [10" [22" |34 |46" |58" |70" |82° |94" |106"[118" [130" [142"|154" [166" | 178" [190" 202" |214" |226" 244" arr
72 [10" [22" |[34" [46" |58" |70" [82" |94" |106"[118" [130" |142" [154" |166" | 176" [190" |202" 214" [226"[238" 256"
73 [10° |22" |34" |46" |58 |70" |82" |94" |106' 118" [130" |142" |154" |166" | 178" [190" |202" |214" |226" |238" [250" 268"
28 [10" |22 |34 |46 |58 [70" |82° |94 |106' [118" [130" |142" |154" | 166" | 178" [190" |202" |214" |226" |238" |250" 262" | 280" MODEL 2700 AMARR 2742
ALL TRACK ATTACHMENTS +/— 2" ALLOWED USING SYP OR SPF NO.2 OR BETTER ONLY MODEL 2720 AMARR 2042
SIZE|ORAWN BY  RIR |DATE 02/18/16 DRAMING NUWBER
B [cHecken B RIR |DATE 02/18/16 IBC-2709-150-11
ENTREMATIC
165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105 SHEET 4 0OF ¢




